BK S:t Erik
Annandagssilver 2016-12-26

Partavling, 18 bord, 36 par. Antal brickor: 42. Medel: 714.2.

Plac Par Poang % Namn MID Klubb
1 7 886.8 62.10 Bjorn Wenneberg - Goran Andersson 1912 1857 BKALERT
2 69 842.3 58.98 Adam Stokka - Gunnar Andersson 30515 18507 BK S:tErik - BK ALERT
3 12 835.8 58.53 Tora Philip - Ulf Nehlin 7780 2000 BK S:tErik
4 9 828.4 58.01 Ric Sallsten - David Bryder 12585 3176 BK S:tErik - LUCK
5 8 816.2 57.16 Lars Nilsson - Magnus Lindkvist 43950 1831 BK S:tErik
6 80 814.4 57.03 Per Soderberg - Claes Melin 18380 9105 Arla BK - BK S:t Erik
7 71 809.2 56.67 Lennart Wiklander - Inga Wasteby 17072 10912 BK Stjarnskotten
8 72 807.9 56.58 Johan Nilsson - Johan Wahlberg 13918 23539 BK S:t Erik
9 79 8035 56.27 Margareta Sjdberg - Ake Sjdberg 24704 9207 BK S:tErik
10 70 792.8 55.52 Odd Stokka - Lena Jensen 18637 6676 BK Bjorken
11 67 788.2 55.20 Bengt-Erik Efraimsson - Anna Zack Efraimsson 127 4049 BK S:tErik
12 5 786.7 55.09 Niclas Ornerdal - Olle Wademark 13085 14800 Norrkdpingsbridgen - Norrorts Bridge
13 11 769.2 53.87 Patric Ornfjard - Tommy Strindfors 1373 818  Arla BK - BK S:t Erik
14 65 759.4 53.18 Goran Hammarstrom - Simon Bech 11426 87173 BK S:t Erik
15 4 739.2 51.77 Lars Manneteg - Peter Svensson 2944 802  Uppsalabridgen - Enkdpings BS
16 68 727.3 50.93 Lars-Erik Rudstrém - Magnus Arve 10725 40423 BK S:t Erik
17 16 725.2 50.78 Gudrun Strandberg - Tore Stormo 4143 78250 BK S:tErik
18 63 721.8 50.54 Patric Holmberg - Ann-Sophie Andersson 17031 39116 BK S:t Erik - Rimbo BK
19 10 714.2 50.02 Jan-Olof Hegethorn - Peter Flodqvist 12033 14778 BK S:t Erik
20 2 702.1 49.16 Per Eriksson - Kjell Lindgren 19493 16259 Enkdpings BS
21 18 699.2 4896 Renee Cooper - Yvonne Wiseman 60251 60233 Uppsalabridgen - BK S:t Erik
22 66 688.8 48.23 Erik Mjoberg - Irene Rune 32761 85381 BK TvaEss
23 15 687.7 48.16 Erika Rodin - Emanuel Unge 93303 49509 BK S:t Erik
24 76 665.8 46.62 Elsy Bergstedt - Florence Bodin 16858 83452 BK Tva Ess
25 75 659.4 46.17 Kjell Pettersson - Lena Engman 1454 61439 BK S:tErik
26 13 655.6 4591 Erik Tornvall - Agneta Aicardi-Holmstrém 52901 50831 Vastra Bjare BK
27 14 6555 4591 Anna-Lena Lundberg - Lars Lundberg 60082 60083 BK S:tErik
28 1 654.9 45.86 Andreas Abragi - Kai Magnusson 58640 45967 BK S:tErik - Odeshogs BK
29 6 652.7 45.71 Kerstin Karlstrom - Christine Claesson 84774 17500 BK S:tErik - SEB Bridge
30 77 642.8 45.02 Roger Ahlbom - Leif Linder 11528 11580 BK Hudik - Séderhamns BS
31 64 613.8 42.98 Sven Martensson - Ewa Eriksson 41916 80479 BK S:tErik
32 73 596.1 41.74 Barbara Lane - Per Molin 52559 57796 BK S:tErik
33 3 587.8 41.16 Eva Klingspor - Ulla Sallin 26851 27402 BK S:tErik - BK Everfresh
34 78 5323 37.28 Britt Andrén - Britt Nylinder 46645 47404 BK S:tErik
35 17 527.2 36.92 Nillan Essén - Magnus Backlund 59143 59151 BK S:t Erik
36 74 520.6 36.46 Agneta Shanwell - Monica Adamsson 44636 29624 BK S:tErik
1 41076 2 4 Kn3 3 4« EK74
Nord vKD105 Ost vD75 Syd v DKn1096
Ingen ¢ ED NS + K105 ov ¢+ Kn
#DKn74 #KD543 £974
4 KD9 4432 454 & E962 41093 4Kn852
v 96 v EKn872 vKn10982 vEK64 vEK842 ¢73
¢ Kn107532 ¢ K8 +92 + 863 ¢E762 D983
*K2 %953 #EKN109 62 *E #1065
« EKn85 « KD1087 « D6
v43 v3 v5
4964 ¢+ EDKn74 + K1054
#E1086 87 #KDKn832
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
9 72 34 N= +K 140 33.0 1.0(64 17 3NN+1 vA 630 340 00|11 70 3vyDV-4 4A 1100 340 0.0
68 13 24 N +1 +K 140 33.0 1.0 9 72 44 N= vA 620 320 20| 2 79 34D0O-3 #Q 800 31.0 3.0
73 8 2NN= +K 120 29.0 50(71 10 4vDO-2 &K 300 300 4.0| 4 77 2¢yDV-3 vQ 800 31.0 3.0
75 6 INN+1 v7 120 29.0 50(67 14 24 S+2 vlJ 170 280 6.0(71 10 3¢DV-2 4A 500 28.0 6.0
2 79 24 S= v9 110 250 9.0(11 70 24 S+1 vlJ 140 240 100| 9 72 3v V-4 oA 400 25.0 9.0
69 12 24 S= +J 110 250 9.0(15 66 24 S+1 vJ 140 24.0 10.0(63 18 3NN= v4 400 250 9.0
64 17 INN= v2 90 21.0 130(80 1 24 S+1 2 140 240 100(75 6 3¢ V-3 s A 300 21.0 13.0
80 1 INN= v8 90 21.0 13.0(69 12 4¢ S= vlJ 130 20.0 140(80 1 1v V-3 vQ 300 21.0 13.0
5 76 INS-1 +J -50 15.0 190(75 6 2NN= v6 120 18.0 16.0(69 12 24DO-1 &K 200 18.0 16.0
11 70 2NN-1 +K -50 15.0 19.0| 2 79 4v O-2 oK 100 15.0 19.0(68 13 2NN +1 a2 150 15.0 19.0
15 66 INS-1 +J -50 15.0 19.0(68 13 3vDO-1 K 100 150 19074 7 2NN+1 45 150 15.0 19.0
71 10 2NN-1 5 -50 15.0 19.0| 5 76 2NN-1 vK -100 110 23.0| 3 78 3#S+1 vA 130 8.0 26.0
4 77 2NN-4 a4 -200 7.0 27.0|73 8 34 S-1 vlJ -100 110 23.0|15 66 2& S +2 vA 130 8.0 26.0
63 18 2NN -4 *6 200 7.0 27.0|74 7 2v V+1 ') -140 8.0 26.0|64 17 34 S+1 vA 130 8.0 26.0
67 14 3NN -4 a2 -200 7.0 27.0| 3 78 3NN-2 vA -200 6.0 28.0|65 16 3# S+1 *2 130 8.0 26.0
74 7 34 S-4 v9 -200 7.0 27.0| 4 77 44 S-3 vlJ -300 3.0 31.0|67 14 34 S+1 vA 130 8.0 26.0
3 78 3NN-6 %3 -300 2.0 32.0|63 18 3NN-3 vA -300 30 31.0| 576 24 N= +9 110 2.0 32.0
65 16 3¢DV= vK -470 0.0 34.0|65 16 3vyDV= 2 -530 0.0 34.0|73 8 54DS-1 YA -100 0.0 34.0
4 4 Kn84 5 « K107 6 aE7
Vast vD54 Nord vE1094 Ost vE975
Alla + Kn98764 NS ¢ EK9542 ov + E1064
D »- #EKn3
4 K7 4109532 4 D2 #9654 4D1052 #Kn43
vEK862 vKn7 vD8653 vKn7 vKn1062 vKD8
¢KD52 +E3 ¢D108 +¢6 +3 ¢ KDKn972
#98 #Kn1065 #9082 #EKKN1064 #K975 %10
« ED6 « EKn83 4 K986
v 1093 vK2 v43
+10 ¢ Kn73 ¢85
#EK7432 &D753 &D8642
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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69 14 4¢vDV-2 #Q 500 340 0.0|69 14 6¢ N= A 1370 340 00| 577 2¢DO-2 94 500 34.0 0.0
4 78 3v V-3 *Q 300 320 20| 5 77 54DO-5 ¢3 1100 320 20|80 2 2NDN= + K 490 320 2.0
6 76 3v V-2 *Q 200 300 4.0| 4 78 3NS+1 v3 630 280 6.0| 4 78 2¢ O-3 *2 300 30.0 4.0
5 77 3#S= vA 110 260 80| 6 76 3NS+1 &T 630 28,0 6.0|65 18 2y V-2 v5 200 26.0 8.0
10 73 3&S= vA 110 26.0 80|66 17 3NS+1 v3 630 280 6.0(70 13 2¢DO-1 46 200 26.0 8.0
80 2 24 S+1 vK 110 26.0 80|10 73 5¢ N+1 A 620 23.0 11.0|72 11 2y V-2 v5 200 26.0 8.0
64 63 3v V-1 *Q 100 20.0 14072 11 5¢ N+1 *A 620 23.0 11.0|68 15 INN +2 vK 150 22.0 12.0
65 18 2v V-1 *Q 100 20.0 14.0|64 63 3NS= *2 600 19.0 15012 71 2¢ O-1 *2 100 16.0 18.0
68 15 2v V-1 *Q 100 20.0 140(68 15 3NS= *2 600 19.0 15016 67 2¢ O-1 v4 100 16.0 18.0
74 9 3#S-1 vA -100 16.0 18.0|74 9 44DO-3 ¢K 500 16.0 18.0|66 17 2¢ O-1 *4 100 16.0 18.0
379 24 0= *A -110 10.0 24.0|65 18 34 S= *2 140 140 20.0|69 14 2¢ O-1 *2 100 16.0 18.0
16 67 2v V= *Q -110 10.0 240| 1 7 44 S-1 *9 -100 10.0 24.0|75 8 2v V-1 s A 100 16.0 18.0
70 13 2v V= *Q -110 10.0 24.0|16 67 3NS-1 *2 -100 10.0 240| 1 7 3#S-1 ¢+ 4 -50 9.0 25.0
72 11 2v V= *Q -110 10.0 24.0|70 13 3NS-1 *9 -100 10.0 24.0|10 73 24 S-1 +3 -50 9.0 25.0
75 8 2v V= *Q -110 10.0 24.0| 3 79 44 S-2 *2 -200 40 300 3 79 2¢ O= +3 -90 5.0 29.0
66 17 3v V= *Q -140 40 300(75 8 44 S-2 *2 -200 40 300(74 9 2¢ O= *2 -90 5.0 29.0
1 7 2¢ N-2 v] -200 1.0 33.0|80 2 44 S-2 v3 -200 40 300| 6 76 3NN-2 + K -100 1.0 33.0
12 71 24 N-2 vJ] -200 1.0 33.0|12 71 44 O= 2 -420 0.0 34.0(64 63 2NN-2 + K -100 1.0 33.0
7 « ED43 8 a7 10
Syd v 843 Vast v KD109852 v EKn9762
Alla 465 Ingen + KD10 ¢ K872
#8732 &73 #DKn
« K5 476 & K654 4 DKn9832 4 K973 4« D86
v EKKn109 v 7652 v63 v74 vK3 v54
+10 + ED9743 +6 + EKn7 ¢+ ED1096 ¢ Kn43
#E9654 +Kn #Kn109854 &EK #105 #K9742
 Kn10982 «E10 « EKNn542
vD vEKn vD108
¢ KKn82 4 985432 +5
#KD10 D62 #E863
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 78 44 S= vA 620 33.0 1.0|11 74 4v N= *A 420 330 10| 1 9 5¢DV-2 YA 500 34.0 0.0
11 74 44 S= vA 620 33.0 10|67 18 4v N= *A 420 330 10| 2 8 4v N+2 +3 480 23.0 11.0
65 64 34 S+1 vA 170 290 50|69 16 54DO-1 YA 100 30.0 40| 4 79 4v N+2 *4 480 23.0 11.0
80 3 24 N+2 vA 170 290 50| 7 76 54 O-1 vA 50 270 70| 5 78 4y N+2 46 480 23.0 11.0
69 16 24 S= vA 110 260 80|75 10 54 V-1 vA 50 270 70| 6 77 4y N+2 +3 480 23.0 11.0
75 10 3v V+1 3 -170 240 10.0|71 14 5v N-2 *A -100 24.0 10.0| 7 76 4v N+2 +*J 480 23.0 11.0
66 63 3y O+2 *K -200 220 120| 1 9 5vDN-2 4Q -300 17.0 17.0|11 74 4v N+2 +3 480 23.0 11.0
7 76 44 S-3 vA -300 20.0 140| 2 8 5vDN-2 &K -300 17.0 17.0|65 64 4v N+2 *2 480 23.0 11.0
17 68 4v V= *K -620 17.0 17.0| 4 79 5¢DS-2 45 -300 17.0 17.0|70 15 4v N +2 *2 480 23.0 11.0
67 18 4y O= *K -620 17.0 17.0| 6 77 5vDN-2 &A -300 17.0 17.0|71 14 4v N+2 *2 480 23.0 11.0
1 9 4v V+1 v8 -650 10.0 24.0|70 15 5vDN-2 &K -300 17.0 17.0|180 3 4v N+2 +3 480 23.0 11.0
2 8 4v V+1 3 -650 10.0 24.0|80 3 5vDN-2 &A -300 17.0 17.0|66 63 4v N +1 46 450 11.0 23.0
6 77 4v O+1 *K -650 10.0 24.0|13 72 44 O= vA -420 6.0 28.0(69 16 4v N+1 v5 450 11.0 23.0
70 15 4v O +1 LN -650 10.0 24.0|17 68 44 O= vA -420 6.0 28.0(17 68 4y N= v5 420 6.0 28.0
73 12 4v O +1 *K -650 10.0 24.0|65 64 44 V= vA -420 6.0 28.0(67 18 4y N= v5 420 6.0 28.0
4 79 4v V +2 LY -680 3.0 31.0(66 63 44 O= vA -420 6.0 28.0(73 12 4y N= +3 420 6.0 28.0
71 14 5v V+1 s A -680 3.0 31.0(73 12 44 O= vA -420 6.0 28.0(13 72 3v N+3 46 230 1.0 33.0
13 72 44DS-3 vK -800 0.0 340| 5 78 44aDO+2 ¢5 -790 0.0 34075 10 3v N+3 +3 230 1.0 33.0
10 « DKn72 11 & Kn2 12 46
Ost v D108 Syd vKnl10754 Vast v D964
Alla ¢+ D1082 Ingen ¢+ D43 NS + E108643
#85 #K42 #Kn10
4 K8 4« E1065 & EK3 410 4 EKD1042 & Kn873
v K64 v Kn952 vE v K9832 v 82 v Kn1053
¢ K763 ¢ EKn5 4109865 ¢ EKn7 ¢ Kn97 ¢+5
#K1074 %92 #EKn85 #D763 «D3 #K985
943 « D987654 95
vE73 vD6 v EK7
+94 + K2 + KD2
#EDKnN63 #109 &E7642
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 10 INV-1 2 100 33.0 1.0|72 15 4v V-3 4] 150 340 0.0]| 7 77 5¢ N+1 45 620 33.0 1.0
6 78 INV-1 a2 100 33.0 10|14 73 24 S= vA 110 320 20|68 63 4v N= a7 620 33.0 1.0
71 16 Pass 30.0 4.0|68 63 24DV-1 YA 100 30,0 40| 6 78 54DV-3 +¢A 500 30.0 4.0
70 17 INV= a2 90 270 7.0( 1 11 640-1 a4 50 260 80|72 15 54DV-2 &J 300 28.0 6.0
80 4 INV= a7 90 270 7.0(12 75 44 V-1 s 50 260 80(80 4 3v N+1 a7 170 26.0 8.0
7 77 INS-1 +6 -100 22.0 12.0|67 64 3NV-1 L) 50 26.0 8.0|67 64 4¢ N= s A 130 23.0 11.0
18 69 INS-1 6 -100 220 12.0| 6 78 3%V +2 4] -150 22.0 12.0|70 17 4¢ N= 43 130 23.0 11.0
67 64 INS-1 *4 -100 220 120| 3 9 34DS-2 YA -300 19.0 15.0|71 16 44 V-1 *A 50 20.0 14.0
72 15 2v V= 8 -110 18.0 16.0| 8 76 34DS-2 YA -300 19.0 15.0|66 65 5¢ N-1 ] -100 18.0 16.0
14 73 INV +1 4Q -120 16.0 18.0|70 17 3NV = 4] -400 15.0 19.0| 5 79 34 V= v6 -140 13.0 21.0
111 2v V+2 4Q -170 14.0 20.0|74 13 54 O= Ly -400 15.0 19.0| 8 76 34 V= *] -140 13.0 21.0
8 76 INS-2 +3 -200 110 23.0| 2 10 3NV +1 L) -430 9.0 25.0(12 75 34 V= *J -140 13.0 21.0
68 63 2& S -2 v4 -200 110 23.0| 7 77 3NV +1 4] -430 9.0 25.0(14 73 24 V+1 v6 -140 13.0 21.0
579 INN-3 v2 -300 7.0 27.0(71 16 3NV +1 aJ -430 9.0 250 1 11 3a V+1 48 -170 7.0 27.0
12 75 INN-3 v2 -300 7.0 27.0(80 4 3NV+1 L) -430 9.0 25.0|74 13 34 V+1 *J -170 7.0 27.0
3 9 24DS-2 v4 -500 3.0 31.0( 5 79 3NV +2 4] -460 20 320 2 10 34 V+2 ] -200 4.0 30.0
74 13 24DN-2 v5 -500 3.0 31.0(18 69 3NV +2 4] -460 20 320 3 9 4e V+l *] -450 1.0 33.0
66 65 INDS-3 +6 -800 0.0 34.0(66 65 3NV +2 vJ] -460 2.0 32.0(18 69 4a V+1 *6 -450 1.0 33.0
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13 93 14 « ED843 15 « D108
Nord v DKn963 Ost v93 Syd v EK643
Alla ¢+ E10974 Ingen 465 NS ¢ E
#10 #K763 #EKD3
4 EDKn6 #1052 4« KKn6 41092 4 EK64 & Kn732
v EK4 v 752 vE10 v KKn862 v9875 vKn
+DKn3 ¢K5 ¢+ KD92 ¢ Kn843 + K6 + D1087
*E64 #KD872 &#EKn42 #8 #987 #10642
4 K874 475 495
v 108 vD754 vD102
4 862 ¢ E107 ¢ Kn95432
#Kn953 #D1095 #Kn5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 78 2vyDN-2 &K -500 34.0 0.0|/67 66 3NV-5 43 250 340 0.0]| 3 11 3¢DO-4 &5 800 33.0 1.0
13 1 3NV= vQ -600 32.0 20| 4 10 3NV -4 43 200 30.0 4.0|73 16 44DV-4 +A 800 33.0 1.0
2 12 4NV = *4 -630 24.0 100 6 79 2NV -4 43 200 300 4.0(69 64 3NN+2 a2 660 30.0 4.0
6 79 3NV +1 vQ -630 24.0 10.0| 9 76 3NV -4 Ly 200 300 4.0 7 78 4v N+1 +8 650 23.0 11.0
8 77 3NV +1 vQ -630 24.0 10.0| 7 78 2NV -3 43 150 250 9.0| 8 77 4vy N+1 +8 650 23.0 11.0
9 76 3NV +1 *T -630 24.0 10.0(69 64 3NV-3 *6 150 250 9.0| 9 76 4y N+1 ¢+ 4 650 23.0 11.0
71 18 3NV +1 vQ -630 24.0 10.0| 8 77 3NV-2 *6 100 20.0 14.0|67 66 4y N+1 a7 650 23.0 11.0
72 17 3NV +1 v3 -630 24.0 10.0|15 74 3NV-2 43 100 20.0 14.0|71 18 4v N+1 *4 650 23.0 11.0
80 5 3NV+1 vQ -630 24.0 10.0(71 18 3NV-2 43 100 20.0 140|180 5 4vy N+1 *2 650 23.0 11.0
3 11 3NV +2 v3 -660 9.0 250 2 12 3NV-1 43 50 13.0 21.0| 2 12 3NN+1 vJ 630 16.0 18.0
4 10 3NV +2 +9 -660 9.0 250 3 11 3NV-1 a2 50 13.0 21.0|68 65 4y N= *4 620 14.0 20.0
15 74 3NV +2 vQ -660 9.0 25.0(72 17 2NV-1 43 50 13.0 21.0| 4 10 1v S+4 +8 200 11.0 23.0
63 70 3NV +2 *T -660 9.0 250(80 5 3NV-1 43 50 13.0 21.0|72 17 1vy N+4 vJ 200 11.0 23.0
68 65 3NV +2 vQ -660 9.0 25.0(75 14 INS-1 +9 -50 8.0 260 6 79 4y N-1 *7 -100 5.0 29.0
69 64 3NV +2 vQ -660 9.0 250(13 1 2¢ V= +6 -90 50 29.0(13 1 4v N-1 vJ -100 5.0 29.0
73 16 3NV +2 +9 -660 9.0 25.0(63 70 2¢ V= +6 -90 5.0 29.0(15 74 6vy N-1 *4 -100 5.0 29.0
75 14 3NV +2 vQ -660 9.0 25.0(73 16 2v O = a7 -110 2.0 32.0(63 70 3¢ S-1 s A -100 5.0 29.0
67 66 34DS-3 YA -800 0.0 34.0(68 65 3NV= v9 -400 0.0 34.0(75 14 6 N-2 *7 -200 0.0 34.0
16 4 K852 17 « KD105 18 4854
Vast vED Nord vE10974 Ost vKn10987
ov 4 8542 Ingen + K9 NS ¢ 73
#Kn65 K10 #542
«E74 49 4964 4 E732 4 KDKn6 410972
v 106 v KKn8732 v 832 vD vE2 v5
¢ EKn63 ¢ K1097 ¢+ Kn6532 ¢ E1074 ¢ Kn985 ¢ KD1042
210742 #D3 »65 #E973 #873 #DKn6
4« DKn1063 4 Kn8 «E3
v 954 v KKn65 vKD643
+D +D8 + E6
#EK98 #DKn842 &EK109
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 11 44 S= s A 420 330 10| 7 79 4v N+1 vQ 450 33.0 10| 4 12 49 S+1 &K 650 33.0 1.0
10 76 44 S= vT 420 33.0 1.0|73 18 4v N+1 *A 450 330 1.0( 5 11 5vS= s K 650 33.0 1.0
3 13 34 S+1 vT 170 29.0 50| 1 15 4y N= s A 420 16.0 18.0|16 75 4y S= &K 620 270 7.0
74 17 34 S+1 vT 170 29.0 50| 3 13 4y N= *A 420 16.0 18.0|69 66 4y S= s K 620 270 7.0
8 78 34 S= vT 140 23.0 110| 4 12 4y N= *A 420 16.0 18.0|70 65 4v S= s K 620 270 7.0
14 2 34 S= *4 140 23.0 11.0| 5 11 4y N= vQ 420 16.0 18.0|80 6 4y N= 2 620 270 7.0
72 63 24 S+1 vT 140 23.0 11.0| 8 78 4y N= 43 420 16.0 180| 1 15 2v S+2 &K 170 20.0 14.0
73 18 34 S= vT 140 23.0 11.0| 9 77 4y N= 3 420 16.0 18.0| 8 78 1v S+3 s K 170 20.0 14.0
7 79 2NN= +3 120 18.0 16.0|10 76 4y N= *A 420 16.0 18.0|14 2 2v N+2 v5 170 20.0 14.0
115 2NN-1 +9 -50 10.0 24.0(14 2 4y N= *A 420 16.0 18.0|74 17 2v N+1 +K 140 16.0 18.0
4 12 44 S-1 vT -50 10.0 24.0(16 75 4y N= *2 420 16.0 180| 7 79 44DV-1 ¢7 100 12.0 22.0
64 71 44 S-1 vT -50 10.0 24.0(64 71 4y N= vQ 420 16.0 18.0| 9 77 44D O-1 v¥K 100 12.0 22.0
68 67 34 S-1 vT -50 10.0 24.0 (68 67 4y N= vQ 420 16.0 18.0|68 67 44DV-1 a2 100 12.0 22.0
69 66 44 S-1 vT -50 10.0 24.0(69 66 4y N= s A 420 16.0 18.0| 3 13 44 O-1 *A 50 7.0 27.0
70 65 34 S-1 vT -50 10.0 24.0(70 65 4y N= *A 420 16.0 18.0|10 76 4e V-1 vJ] 50 7.0 27.0
80 6 44 S-1 vT -50 10.0 24.0(72 63 4y N= ¢ A 420 16.0 18.0|64 71 4v S-1 s K -100 2.0 32.0
9 77 3NN-2 *4 -100 1.0 33.0|74 17 49y N= ¢+ 4 420 16.0 18.0|72 63 5v S-1 s K -100 2.0 320
16 75 3NN-2 *7 -100 1.0 33.0|/80 6 3NN-2 *7 -100 0.0 340(73 18 4y N-1 ¢+ K -100 2.0 32.0
19 « Kn6 20 « KKn3 21 462
Syd vED7 Vast vE107 Nord v D932
ov ¢ EKn7 Alla + K5 NS + K8
#EKD76 #D10764 #Kn7632
4« K8 4 D10952 s E 497652 « EK 4753
v 109843 v KKn2 v KD6 v 83 v K84 vE10765
2 + K84 ¢ EKNn106432 ¢ 987 ¢+ E64 ¢ DKn93
#98543 #Knl0 #K3 #985 #EK984 #D
4 E743 «D1084 « DKn10984
v 65 v Kn9542 vKn
+ D109653 +D + 10752
&2 &EKN2 £105
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
65 72 3NN +2 &T 460 320 20| 9 78 4v S= *A 620 340 0.0|70 67 54 O-4 *6 200 34.0 0.0
69 68 4NN +1 *] 460 320 20| 2 16 5¢DV-1 ¥vA 200 300 40| 513 6v0-1 +Q 50 31.0 3.0
80 7 3NN+2 *J 460 320 20|10 77 2NV-2 v7 200 30.0 4.0|74 63 6v V-1 46 50 31.0 3.0
70 67 3NN+1 ¢+ 4 430 280 6.0|73 64 3NV-2 *4 200 30.0 4.0| 9 78 3NV= 46 -400 28.0 6.0
6 12 5¢ S= vT 400 240 10.0| 4 14 44 N-1 +9 -100 24.0 10.0| 4 14 4y V= 46 -420 24.0 10.0
9 78 5¢ S= v9 400 24.0 10.0|69 68 4y S-1 *A -100 24.0 10.0| 8 79 4v V= 46 -420 24.0 10.0
15 3 5¢ S= vT 400 24.0 10.0|70 67 3v S-1 *A -100 240 10.0|15 3 4v O= 4Q -420 24.0 10.0
2 16 3NN-1 a2 -50 13.0 21.0(15 3 3¢ V= v7 -110 20.0 14.0|10 77 3NV +1 46 -430 19.0 15.0
4 14 3NN-1 a2 -50 13.0 21.0( 5 13 3¢ V+1 v7 -130 12.0 22.0|17 1 3NO+1 «Q -430 19.0 15.0
5 13 3NN-1 45 -50 13.0 21.0(11 76 4¢ O= ¢+ Q -130 12.0 22.0|11 76 4v V+1 *2 -450 14.0 20.0
8 79 3NN-1 oT -50 13.0 21.0(17 1 2¢ V+2 *4 -130 12.0 22.0|69 68 4v O +1 +Q -450 14.0 20.0
17 1 5¢ S-1 v3 -50 13.0 21.0|65 72 3¢ V+1 &4 -130 12.0 22.0|73 64 4v O+1 +Q -450 14.0 20.0
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71 66 3NS-1 4K -50 13.0 21.0(74 63 2¢ O+2 v2 -130 120 22.0| 6 12 3NV +2 46 -460 9.0 25.0
73 64 5¢ S-1 vT -50 13.0 21.0(75 18 1¢ V+3 *4 -130 12.0 22.0|71 66 3NV +2 *2 -460 9.0 25.0
75 18 5¢ S-1 +K -50 13.0 21.0(80 7 3¢ O+1 48 -130 12.0 22.0|75 18 4v V+2 46 -480 6.0 28.0
11 76 3NN-2 oT -100 3.0 31.0| 6 12 4& N-2 *7 2000 3.0 31.0| 2 16 3NV +3 *2 -490 2.0 32.0
74 63 3NN-2 a2 -100 3.0 31.0| 8 79 4¢vyDS-1 +A -200 3.0 31.0|65 72 3NV +3 46 -490 2.0 32.0
10 77 64 S-5 *2 -250 0.0 34.0|71 66 2NN-3 +8 -300 0.0 34.0|80 7 3NV+3 *2 -490 2.0 32.0
22 ~ K3 23 « KD2 24 «E83
Ost v6 Syd v K72 Vast v75
ov + EKKn84 Alla + K62 Ingen + 1082
#K10986 #8765 #96532
2984 4 DKnl0 «E109 #Kn843 4 K9 4 D652
vE984 vKn32 vE863 vKn9 vED1063 vK92
¢D75 ¢10963 41054 ¢ EDKn8 ¢ K73 ¢ D95
#753  #EKn2 #KD4 #Kn32 #EDKn #1074
« E7652 & 765 4« Kn1074
vKD1075 vD1054 v Kn84
2 +973 ¢ EKn64
*D4 *E109 +K8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
66 73 3NN+1 *T 430 320 20| 7 13 INV-1 8 100 340 0.0[10 78 2N O +1 a7 -150 33.0 1.0
70 69 3NN +1 ] 430 320 20| 515 INO= v4 90 320 20(12 76 INO+2 *4 -150 33.0 1.0
72 67 3NN+1 v2 430 320 20| 1 63 INV+1 v2 -120 240 10.0| 9 79 2v V+2 &7 -170 300 4.0
10 78 44 S= +5 420 270 70| 3 17 INV+1 *5 -120 240 10.0| 3 17 3NV= &2 -400 28.0 6.0
12 76 44 S= vA 420 270 70| 6 14 INV+1 8 -120 240 10.0| 5 15 4v V= &5 -420 18.0 16.0
3 17 3NN= &2 400 19.0 150(10 78 INV+1 8 -120 24.0 10.0| 7 13 4v V= *2 -420 18.0 16.0
6 14 3NN-= +6 400 19.0 150|111 77 2NV = *6 -120 24.0 10.0|11 77 4y V= v7 -420 18.0 16.0
11 77 3NN= v3 400 19.0 15012 76 INO+1 v4 -120 240 10.0|16 4 4y V= *2 -420 18.0 16.0
16 4 3NN-= +6 400 19.0 150(75 64 INV+1 &5 -120 240 10.0|18 2 4v V= &2 -420 18.0 16.0
71 68 3NN-= «Q 400 19.0 150( 9 79 INV+2 *7 -150 10.0 24.0|71 68 4y V= v7 -420 18.0 16.0
75 64 3NN= «Q 400 19.0 15016 4 INV+2 *6 -150 10.0 24.0|72 67 4y V= 43 -420 18.0 16.0
1 63 3NN-1 «Q 50 7.0 270(18 2 INO+2 *2 -150 10.0 24.0|75 64 4y V= &5 -420 18.0 16.0
5 15 3NN-1 +Q 50 7.0 27.0(66 73 1INV +2 *8 -150 10.0 24.0|80 8 4y V= v7 -420 18.0 16.0
7 13 3NN-1 +Q 50 7.0 27.0(71 68 INO+2 a7 -150 100 24.0| 6 14 3NV +1 *6 -430 8.0 26.0
9 79 3NN-1 *9 50 7.0 270(72 67 INV+2 *6 -150 100 24.0| 1 63 4v V+1 v7 -450 5.0 29.0
18 2 3NN-1 v2 50 7.0 270(80 8 INV+2 *6 -150 10.0 24.0|70 69 4v V+1 *T -450 5.0 29.0
80 8 4NN-1 +Q -50 7.0 27.0(74 65 INV+3 v2 -180 2.0 32.0|66 73 3NV +2 3 -460 1.0 33.0
74 65 3NN-2 «Q -100 0.0 34.0|70 69 2¢vDS-3 &K -800 0.0 34.0|74 65 3NV +2 43 -460 1.0 33.0
25 « 108 26 « EKn104 27 #9832
Nord v KKn10854 Ost vK2 Syd v6
ov ¢ K7 Alla + EKn4 Ingen + D8754
#EK7 #D543 #1053
4 Kn 4 D9762 4KD93 4652 a7 454
v9 v D62 vEG6 vD109874 vEDKn85 vK9732
¢ ED963 ¢ Kn105 ¢ KD952 ¢ - ¢ EKn109 ¢ K632
#Kn109842 «D3 #106 #EKKn8 #DKn4 *K8
« EK543 « 87 « EKDKn106
vE73 v Kn53 v 104
¢ 842 ¢108763 .-
%65 *972 #E9762
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 16 4y N+2 ¢J 480 320 20| 1 65 3NRDV-1 #4 400 340 0.0| 7 15 44aDN+1 YA 690 340 0.0
13 76 4y N+2 *T 480 320 20|13 76 4v V-2 *4 200 320 20|80 9 54DS= vA 650 320 20
67 74 4y N+2 +J 480 320 20| 8 14 2v0O-1 48 100 25.0 90| 1 65 44DS= a7 590 27.0 7.0
1 65 4v N+1 *«Q 450 15.0 19.0(12 77 4v O-1 *T 100 25.0 90| 4 18 44DS= vA 590 27.0 7.0
2 64 4y N+1 «Q 450 150 19017 5 4v0O-1 48 100 250 90|11 78 44DS= vA 590 270 70
4 18 4y N+1 «Q 450 150 190(63 3 24 V-1 &4 100 25.0 9.0(72 69 44DS= a7 590 27.0 7.0
7 15 4y N+1 ¢J 450 15.0 19.0|71 70 4v O-1 48 100 250 90| 8 14 54 S= vA 450 20.0 14.0
8 14 4v N+1 3 450 15.0 19.0(72 69 4v O-1 LX) 100 250 9.0(12 77 54 S= «Q 450 20.0 14.0
10 79 4y N+1 *T 450 15.0 19.0(67 74 2v O = 48 -110 18.0 16.0|67 74 44 S+1 vA 450 20.0 14.0
12 77 4y N+1 ¢5 450 150 19.0(11 78 2v O+1 48 -140 16.0 18.0|63 3 44 S= vA 420 16.0 18.0
17 5 4y N+1 ¢J 450 15.0 190 2 64 3NV = T -600 110 23.0|71 70 5v V-1 a2 50 13.0 21.0
63 3 4y N+1 «Q 450 15.0 19.0| 7 15 3NO= &3 -600 11.0 23.0|73 68 5v V-1 43 50 13.0 21.0
71 70 4y N+1 *«Q 450 15.0 19.0|75 66 3NV = 3 -600 11.0 23.0| 2 64 54 S-1 vA -50 9.0 25.0
72 69 4y N+1 *«Q 450 15.0 19.0(80 9 3NV= T -600 110 23.0| 6 16 54 S-1 vA -50 9.0 25.0
73 68 4y N+1 +J 450 150 190( 4 18 4v O+1 v3 -650 4.0 30.0|10 79 54DS-1 YA -100 4.0 30.0
75 66 4y N+1 ¢J 450 150 19.0(10 79 4v O+1 *2 -650 4.0 30.0|13 76 54DS-1 +A -100 4.0 30.0
80 9 4v N+1 *J 450 15.0 19.0(73 68 4v O+1 *9 -650 4.0 30.0|17 5 44DS-1 a7 -100 4.0 30.0
11 78 4y N= *«Q 420 00 340| 6 16 44DV +1 +A 990 0.0 34.0|75 66 4y O= LYN -420 0.0 34.0
28 4 Kn85 29 49 30 & Kn92
Vast vD8 Nord v KKn943 Ost v43
NS ¢ KKn754 Alla + K4 Ingen ¢ E9632
#D53 #KKn963 #EK4
« E96 « 107 4 ED762 #1043 «KD643 «E1085
vK6543 v 1097 vD102 vE65 vD102 vE986
+ D86 ¢ E103 ¢92 + EDKn83 ¢Knl0 ¢ KD8
*74 #K9862 #1084  #E2 #962 #85
& KD432 & KKn85 a7
v EKn2 v 87 v KKn75
+92 ¢ 10765 ¢ 754
#EKn10 «D75 #DKn1073
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
80 10 3N S+2 v3 660 340 00( 7 17 34 0O-1 +6 100 27.0 70|12 78 3¢ N= 48 110 340 0.0
12 78 44 S+1 v3 650 320 20| 8 16 3NO-1 v8 100 270 70| 7 17 44 S-1 +K -50 31.0 3.0
5 63 3NS+1 v3 630 280 60| 9 15 44 0-1 &5 100 270 70|64 4 34S-1 v2 -50 31.0 3.0
9 15 3NS+1 v3 630 28.0 6.0(11 79 44 V-1 49 100 27.0 70|80 10 44DS-1 4K -100 28.0 6.0
72 71 3NS+1 v3 630 280 6.0(12 78 44 O-1 3 100 270 70| 2 66 24 V= *A -110 26.0 8.0
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18 6 44 S= &7 620 240 10.0(18 6 2¢ O-1 v8 100 270 70| 1 67 24 V+1 &A -140 16.0 18.0
2 66 24 S+3 v4 200 220 120(64 4 3NO-1 v8 100 27.0 7.0 9 15 24 O+1 &Q -140 16.0 18.0
3 65 34 S+1 +6 170 17.0 17.0|68 75 44 O-1 v8 100 27.0 7.0(11 79 24 V+1 SA -140 16.0 18.0
7 17 34 S+1 &7 170 17.0 17014 76 2¢ O+1 v8 -110 18.0 16.0 (13 77 24 V+1 &A -140 16.0 18.0
8 16 34 S+1 v3 170 17.0 170| 5 63 34 O= +6 -140 14.0 20.0(14 76 24 V+1 *A -140 16.0 18.0
11 79 24 S+2 v4 170 17.0 17.0|13 77 34 O= v8 -140 140 20.0(68 75 34 V= &A -140 16.0 18.0
14 76 2NN +1 vT 150 11.0 23.0|/80 10 24 O +1 v8 -140 14.0 20.0(72 71 24 V+1 &A -140 16.0 18.0
68 75 2N S +1 v4 150 11.0 23.0( 2 66 2v N-2 SA -200 10.0 24.0|73 70 24 V+1 SA -140 16.0 18.0
1 67 34 S= &7 140 7.0 27.0|73 70 3v N-3 &A -300 8.0 26.0|74 69 24 O+1 *Q -140 16.0 18.0
64 4 24 S+1 v2 140 7.0 27.0(72 71 44 V= +K -620 6.0 28.0| 8 16 24 V+2 &A -170 6.0 28.0
73 70 2NS= v3 120 40 300( 1 67 44 O+1 v7 -650 4.0 30.0| 3 65 3NDN-2 a7 -300 4.0 30.0
13 77 3NS-1 +6 -100 1.0 33.0(74 69 3NO +2 +5 -660 20 320| 5 63 3«4DV= v4 -530 1.0 33.0
74 69 44 S-1 &7 -100 1.0 33.0( 3 65 4¢vDN-3 ¥¢5 -800 0.0 340|18 6 3«4DV= &K -530 1.0 33.0
31 383 32 « EKD72 33 & Kn
Syd v KKn75 Vast vK7 Nord v K10952
NS ¢ E95 ov ¢ Kn53 Ingen ¢ EKn
#K1076 &Kn87 #KKn875
4Knl092 «E7 48 496543 41098652 4 ED73
v E842 v D103 v E53 v 8642 v- v DKn8
+ 864 ¢ KKn10732 + KD9 ¢+ 10642 + 105 + KD86
&54 &Kn3 #KD9654 &- #ED1093 %64
« KD654 & Knl0 & K4
v 96 v DKn109 vE7643
+D + E87 ¢ 97432
&ED982 &#E1032 &2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 68 3NN= +3 600 300 4.0(14 77 3SNDN+1 +v4 650 340 0.0)13 78 4v N= +K 420 340 0.0
3 67 3NN= T 600 300 40| 9 17 3NS+3 &4 490 320 20|12 79 54D0O-2 ¥vA 300 320 20
12 79 5 N= *T 600 300 40| 4 66 3NS+2 &5 460 260 80| 4 66 54DV-1 a] 100 29.0 5.0
14 77 5% N = +3 600 300 40|12 79 3NS+2 L JO) 460 26.0 8.0(80 11 54DO-1 &2 100 29.0 5.0
73 72 5& N= T 600 30.0 4.0|13 78 3NS+2 &K 460 2600 8.0(10 16 54 V-1 v2 50 24.0 10.0
63 7 3¢DO-2 oK 300 23.0 11.0(15 76 3NS+2 &K 460 260 8.0(73 72 44 V-1 v9 50 24.0 10.0
69 1 3¢DO-2 #9 300 23.0 11.0(80 11 3NS+2 &K 460 260 8.0(75 70 44 V-1 v9 50 24.0 10.0
6 64 44 N +2 *2 170 19.0 15.0| 8 18 3NS+1 &K 430 18.0 16.0( 8 18 4v N-1 *+K -50 19.0 15.0
75 70 34 S+1 +6 170 19.0 15.0|63 7 3NS+1 &K 430 18.0 16.0( 9 17 4v N-1 a3 -50 19.0 15.0
9 17 34 S+2 a] 150 15.0 19.0(75 70 3NS+1 &K 430 18.0 16.0( 2 68 5v N-2 +K -100 14.0 20.0
13 78 44 N +1 T 150 15.0 19.0( 2 68 3NN= v4 400 140 20.0( 6 64 5vDN-1 &A -100 14.0 20.0
65 5 44S-= &2 130 12.0 22010 16 2N S+3 +K 210 12.0 22.0(69 1 5v N-2 +K -100 14.0 20.0
8 18 44 O-2 &A 100 100 240(69 1 3¢ O-2 a] 200 9.0 25.0| 3 67 6vyDN-2 &A -300 9.0 25.0
4 66 3NN-1 &3 -100 4.0 30.0|73 72 3&V-2 s A 200 9.0 25.0|15 76 5vDN-2 ¢K -300 9.0 25.0
10 16 44 S-1 *4 -100 4.0 300| 3 67 34 N+1 v4 170 6.0 28.0|74 71 44 V= v2 -420 6.0 28.0
15 76 3NN-1 v3 -100 40 30.0| 6 64 2NN +1 v8 150 4.0 30.0|14 77 54 V= *A -450 3.0 31.0
74 71 34 S-1 *4 -100 4.0 300|74 71 24 N= v4 110 20 320|633 7 44 V+1 v2 -450 3.0 31.0
80 11 54 S-1 *4 -100 4.0 300|65 5 24 N-1 &2 -50 0.0 340|65 5 54DV= &5 -650 0.0 34.0
34 & K75432 35 « EKNn1042 36 493
Ost v EKn7 Syd vD10973 Vast v DKn84
NS ¢ D72 oV + 105 Alla ¢ K7542
&3 &7 &52
& E9 « D6 498653 KD «E1075 & KD86
vD932 vK6 vKn v EK64 vE96532 v107
¢ KKn86 ¢ 943 +873 + KD6 ¢ Kn + E106
962 #EKD1054 #Kn953 #ED108 106 &EDA43
& Knl108 a7 & Kn42
v 10854 v 852 vK
+ E105 ¢ EKn942 + D983
&Kn87 &K642 #KKn987
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
11 17 44 0-1 a] 50 33.0 1.0|15 77 44 O-5 v2 500 340 00| 3 69 4v V-1 &2 100 24.0 10.0
74 73 3#0-1 a] 50 330 10| 4 68 34 O-4 a7 400 320 20| 7 65 4v0O-1 +8 100 24.0 10.0
15 77 34 0= a] -110 27.0 7.0|11 17 3NO-3 +3 300 30.0 4.0|11 17 4v V-1 +3 100 24.0 10.0
16 76 3% O = a] -110 27.0 7.0| 3 69 34 O-2 *2 200 23.0 11.0|14 78 44 O-1 vK 100 24.0 10.0
64 8 3#0-= a] -110 27.0 7.0| 5 67 3NO-2 a7 200 23.0 11.0|15 77 4v O-1 a2 100 24.0 10.0
66 6 2& 0 +1 a] -110 27.0 7.0|66 6 2NO-2 *4 200 23.0 11.0|16 76 44 O-1 +8 100 24.0 10.0
4 68 3 O +1 a] -130 22.0 120|700 2 3NO-2 *2 200 230 110|66 6 3NO-1 &8 100 24.0 10.0
3 69 34aDN-1 &A -200 20.0 14.0|74 73 3NO-2 *2 200 23.0 110|70 2 44 O-1 vK 100 24.0 10.0
171 3NO= v4 -400 14.0 20.0|80 12 34 O-2 *2 200 23.0 11.0|74 73 4v O-1 +8 100 24.0 10.0
5 67 3NO= a] -400 140 20.0f 1 71 3NO-1 +3 100 13.0 21.0|75 72 44 O-1 vK 100 24.0 10.0
9 63 3NO= v5 -400 14.0 20.0| 7 65 2NV-1 +3 100 13.0 21.0|80 12 4v O-1 a2 100 24.0 10.0
10 18 3NV = a3 -400 14.0 20.0|10 18 3NO-1 v8 100 13.0 21.0| 9 63 2vy O+1 +8 -140 12.0 22.0
80 12 3NO= v5 -400 14.0 20.0(14 78 2NO-1 *2 100 13.0 21.0| 4 68 4v O= +8 -620 6.0 28.0
7 65 3NO+1 v3 -430 4.0 300| 9 63 2¢ S= vJ 90 8.0 260 5 67 44 O= a2 -620 6.0 28.0
13 79 3NV +1 v7 -430 4.0 30.0|13 79 24DN-1 &K -100 50 29.0(10 18 44 O= *7 -620 6.0 28.0
14 78 3NV +1 a3 -430 40 300(16 76 3vyDN-1 v4 -100 50 29.0(13 79 44 O= +6 -620 6.0 28.0
70 2 3NV+1 a5 -430 4.0 300|75 72 3 0O= a7 -110 20 320(64 8 44 O= *6 -620 6.0 28.0
75 72 3N O +1 v4 -430 40 30.0|64 8 4¢vDN-2 &K -300 0.0 340| 1 71 44 O+1 vK -650 0.0 34.0
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37 @- 38 4 KD103 39 «E109
Nord v D42 Ost v9 Syd vED105
NS + EK6532 oV ¢+ KD43 Alla + 106
&K974 10987 #9843
4 ED6 & KKn98742 452 « £9864 & KKn8653 &72
v EKNn1097 v 863 vD108642 vE7 v K872 v Kn3
+ D109 ¢ Kn +95 1072 *4 + KKn873
D10 &Kn3 &D53 &EKnN2 K10 &#Kn652
41053 & Kn7 D4
v K5 v KKn53 v 964
+ 874 + EKn86 ¢+ ED952
#E8652 »K64 &ED7
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 73 5¢DN= &] 750 339 0.1]15 78 14DO-2 & 500 340 0.0|10 64 24DV-3 T 800 340 0.0
12 18 5& S= & A 600 318 22|75 74 3NN= a4 400 320 20| 8 66 3NS+1 46 630 320 2.0
6 68 54 O-2 A 100 297 43| 1 73 14DO-1 3 200 280 6.0(12 18 3NS= 46 600 28.0 6.0
4 70 44 O-1 *4 50 21.2 12.8(10 64 INO-2 v3 200 280 6.0(16 77 3NN= a7 600 28.0 6.0
8 66 44 V-1 ¢4 50 212 12816 77 2vDV-1 &T 200 28.0 6.0(80 13 3NS= v2 600 28.0 6.0
10 64 44 O-1 *4 50 21.2 12.8(11 63 INN+3 a3 180 240 10.0(65 9 24DV-2 L Y 500 23.0 11.0
11 63 34 O-1 &A 50 212 128(65 9 INN+2 46 150 21.0 13.0(67 7 24DV-2 T 500 23.0 11.0
17 76 44 O-1 a3 50 21.2 128(67 7 2NN+1 a4 150 21.0 130 2 72 INS+2 &T 150 20.0 14.0
67 7 44 O-1 *4 50 212 128 5 69 2¢ N+2 s A 130 18.0 16.0(15 78 INN+1 a7 120 18.0 16.0
71 3 4e V-1 &3 50 212 128( 4 70 INN+1 a3 120 15.0 19.0( 4 70 3¢ S= v7 110 15.0 19.0
5 69 34 O= vK -140 117 223(71 3 2NN-= a4 120 15.0 19.0(75 74 34 S= v7 110 15.0 19.0
15 78 3v V= A -140 117 223|117 76 3¢ N= vA 110 12.0 22.0(17 76 INN= vJ 90 12.0 22.0
14 79 34 O+1 *4 -170 85 255|80 13 14 O-1 v5 100 100 240(| 1 73 1a V= T -80 10.0 24.0
75 74 44 O= +8 -420 54 286| 2 72 INN= a4 90 8.0 26.0| 5 69 3NS-1 v7 -100 6.0 28.0
80 13 44 O= &A -420 54 286| 6 68 3¢ N-1 s A -50 3.0 31.0|11 63 3¢ S-1 v7 -100 6.0 28.0
16 77 34DO= vK -530 22 31.8| 8 66 3NN-1 a4 -50 3.0 31.0{71 3 3NN-1 +6 -100 6.0 28.0
2 72 34DO+1 vK -630 0.1 33.9|12 18 3NN-1 a2 -50 3.0 31.0| 6 68 3& N-2 a7 -200 1.0 33.0
65 9 A+/A+ 20.4 204 (14 79 3& N-1 7 -50 3.0 31.0{14 79 3NN-2 a7 -200 1.0 33.0
40 « D763 41 & 753 42 & Knl1065
Vast v 10642 Nord v KD5 Ost v103
Ingen ¢ EKKn ov + KKn85 Alla + K95
&Kn7 &KKn7 &EKKN10
4E1082 &Kn94 « D98 & EKn42 49874 & KD3
v KKn v 9753 v10974 vKn862 vKn852 vED7
¢+ D4 498653 ¢ED42 476 +6 + ED3
4108542 #6 »43 &E109 #9732 &D654
& K5 4 K106 «E2
vED8 vE3 v K964
¢ 1072 + 1093 + Kn108742
&#EKD93 #D8652 &8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 71 3NN +2 +9 460 320 20|11 65 3vyDV-2 &7 500 340 0.0|80 14 2NDO-3 v6 800 340 0.0
11 65 3N S+2 &2 460 320 20| 571 INS+3 vT 180 31.0 30|18 76 3NO-5 7 500 320 20
12 64 3NN+2 v9 460 320 20| 9 67 INS+3 v7 180 310 3.0|13 63 2¢ V-4 &A 400 30.0 4.0
1 75 3NN+1 +5 430 20.0 14.0( 2 74 INS+2 v7 150 2600 80| 2 74 14 0-2 s A 200 26.0 8.0
3 73 3NS+1 &2 430 20.0 14.0|18 76 INS+2 *2 150 260 80| 7 69 INV-2 *4 200 26.0 8.0
6 70 3NS+1 48 430 20.0 14.0(80 14 INS+2 48 150 2600 8.0(15 79 2NO-2 *J 200 26.0 8.0
7 69 3NS+1 &5 430 20.0 14.0( 7 69 2# N +2 7 130 220 120 5 71 2¢ S+2 &3 130 19.0 15.0
15 79 3NS+1 &4 430 200 140( 3 73 INS+1 v7 120 16.0 18.0|12 64 3¢ S+1 49 130 19.0 15.0
17 77 3NS+1 +Q 430 200 14.0(12 64 INN+1 a3 120 16.0 18.0(16 78 2¢ S+2 L Y 130 19.0 15.0
68 8 3NS+1 »2 430 20.0 140|115 79 INN+1 a2 120 16.0 18.0(72 4 2¢ S+2 &3 130 19.0 15.0
72 4 3NN+1 +3 430 20.0 14.0(66 10 INS+1 v7 120 16.0 18.0| 9 67 24 O-1 L ] 100 14.0 20.0
80 14 3NN+1 L Y 430 200 14.0(72 4 INS+1 v5 120 16.0 180| 3 73 14 0= *J -70 10.0 24.0
9 67 1¢DO-2 &A 300 10.0 24.0(13 63 2v V-1 & 100 10.0 24066 10 1O = s A -70  10.0 24.0
13 63 3& S= +Q 110 80 26.0| 1 75 3NN-1 a2 -50 70 270|68 8 140= *J -70  10.0 24.0
2 74 4v N-1 &4 -50 50 29.0|17 77 2NN-1 vT -50 70 270 1 75 3NN-1 &4 -100 6.0 28.0
18 76 4NN-1 +9 -50 50 29.0| 6 70 2y V= a7 -110 40 30.0|17 77 2NO= *J -120 4.0 30.0
16 78 4v N-2 *6 -100 1.0 33.0(16 78 1INV +3 ¢4 -180 20 320|11 65 3¢ O+1 a7 -130 2.0 32.0
66 10 54DN-1 ¢5 -100 1.0 33.0(68 8 2vyDV= a3 -670 0.0 340| 6 70 24 N-2 v2 -200 0.0 34.0
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